Intermediate Algebra - Review

HW #14 - due Fri, 10/16

7.2 #11-21 odd, 43-51 odd, 57-65 odd, Operations on Radical Expressions
85-91 odd, 97-103 odd,113-121 odd
8.2 #59-69 odd Quadratic Equations

HW #15 - due Mon, 10/19
6.3 #17,23,25,33,41,43 Complex Fractions
6.4 #9-310dd Rational Equations

HW+#16 - due Fri, 10/23
Handout: Old Test #4 from 2010
Handout: Practice Problems for Test #4

Test #4 - Friday, 10/23
on5.7,6.1,6.2,6.3,6.4,6.6,7.2, 8.2

20. Solve the equation forx. ¥ a,xz-\szd'C:D
@-12=31-x  (x=1) +x—=3[=Q gpy= AT
=D oo b fuc
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Find the equation of the line that passes through the points (—4,7 ) and (=4, —3)?'
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5. Simplify and state the values which are not in the domain for each variable.
3 2
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2 (X-2) , 5

X —
X %z T X2 X C——*(; ;,:;m
(Br-2%) X2)  (x- 4_/
¥ -TrN) S(7F XP0OD%
17. .jil;l;lifj;.w ® ;}Z%
\l(Z)i x3)2(39>2 %)3 (X1,>3(55 3
8 =
3/ Y



Intermediate Algebra - Review October 20, 2015

21. Solve for x.
3 4 2

+ =
x+5 (x+5)(x+3) x+3

/‘<\
(x+5)(x+3) R S (x+6)(>>3’) 2
*+9 C*"S) 29 (kD) $A

(x43)3 + 4 = 2(x+5)
3X+o\+“" = 2x+10
Sx-2x =10 -9-4

o=

10. s(izgf;/./z xlﬂ/f\ _ (Q}')z> _n (X)M
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16. Divide the polynomials. Give the quotient and the remainder.

l?‘-
4xz Lox+fl— Yz
W |l -Ix-3

2l 42-5-3
B Ll (W)

(4x3+2x2-5x—-3)+(x+2)

Q: 4“-7_—(0 f R _("X ~9x-3
17. ij:n;egl);';:j;r the polynomial. ( (ox 7)’2)()5
X=

64x3 =27 = (4;() -3 | 1‘)
__(q.)v's)(\(oxz__’__ [Z% +o,) /(.iL'LL?

19. Divide. Write your answer as a single, simplified fraction, and state the values of the variable for which th

expression is undefined.
x+3)(x—4) (x+3)(x—5)

(x+4)(x=5) (x+4)(x—4)
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18. Completely factor the polynomial.

6x5 + 10x* — 24x% = ;2)(3<5X1+5><— 12
—-QABE’pf#’!x—‘fx—lzj >

=2 Lj)&(\;—gf £ &:Bﬁ = [?TXB (X 1—3X5X —T)?

19. Solve the system of equations. If it exists, give your solu

gx_gy:4(z> N uxw?.j-:s_zb 3x'3("3)= 4

2x —4y =2 (__3>

- lox +1
.23 Ox 7
5’(" 7 ;Q‘ﬁ/j

as an ordered pair (x,y).

Skt = () 8"
4({7?:—@ = ((,OX’%X(QX*'@
= 2(3x-4)2(3x+4)
= 4 (3)(’4')(3 ;H—T)
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T =@
=22 XX
=[3xfax

21. Find the distance between the two points (—8,—2),(—1,-5).
r—‘_—‘ — 7_
: (x"_x>z+(:jz-5 Xl 5| )‘L\‘j?_

JF<8>>+<5 RN

=V49+q =
22. Find the mldgom t of the line sEgMent connecting the two points (—8,—2),(—1,-5)
3+3 ) ( gfg-o -zfc—s))
Z

24. Find th tion of the li ith lope that th h the point (—8, -2
ind the equation of the line with_zero slope that passes through the poin ( )

\v‘\\’bﬁ zonte lINQ_
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Find the x- and y-intercepts of the function 6x + 3y = 12.

26. x-intercept: (0 )(+3 (°> =\ TTT] .\‘
=2,

27. y-intercept:

28. Graph the function 6x + 3y = 12.

3&:’@X+lz

lj -t 4
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